Hit 10 shots in each test and score them this way:
Shots outside € feet=0 pts. Between 3 and 6 feet=1 pt. Inside 3 feet=2 pts. In hole= 4 pts.
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50-yard wedge - Tour Avg. = 10 pts. 30-yard wedge Tour Avg. = 13 pts,

soore | 02 | 24 | 46 | 68 | 89 | 92 Score | 03 | 35 | 50 | 840 | 1042 1214
Hicp. | 25+ 2515|15-6 | 83 | 30 | Tour Hdcp. | 27+ 2717|178 | 85 | 50 | Tour

16-yard sand

g-yardsand shot  TourAvy. - 14pts. [l “blast’shot Tour Avg.= 12 pts.

Score | 02 | 25 | 57 | 710 | 1012 1216 score | 02 | 25 | 57 | 79 | 911 | 1145
Hicp. | 22+ |2242| 126 | 62 | 20 | Tour Hicp. | 16+ 186 | 63 | 31 | 10 | Tour




Hit 10 shots in each test and score them this way:
Shots outside 6 feet=0 pts. Between 3 and 6 feet=1 pt. Inside 3 feet=2 pts. In hole =4 pts.

10-yard chip _
from light fringe.

Score | 0-6 | 69 | 911 | 1114|1446 | 1620
Hdep. | 30+ |3n-22!22-12| 12:5 | 50 | Tour

short pitch

score | 03 | 35 | 57 | 79 | 91| 447

Tour Avg. = 18 pts. .

20-yard chip

from light rough Tour Avg, = 18 pts.

score | 06 | 69 | 911 | 1114 1416 1620

] .'i_'n]_'.lr'Afg__. = 1E_pt§=,_

Hdcp. | 33+133-2[I{2[!-I!| 12-7 | 1-0 | Tour

Hicp. | 25+ (2545|158 | 8-3 | 3-0 | Tour
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15-yard pitch
(cut-lob w/L-wedge)

Tour Ava, = 15 pts.

Score | 0-3 | 3-6 |68 | 840 i1n-13|13-1r

1

Hdcp. | 30+ 3047 1740 | 105 | 50 | Tour




WHAT IS YOUR SHORT-
GAME HANDICAP?

Hit 10 shots for each test, scoring as described on the first
page. Use the chart at the bottom of each test to calculate
your handicap for that shot. Then total the points from all
eight tests to figure out your short-game handicap.

Short Short Short
Test Game Test Game Test Game
Score  Hdcp Score Hdep Score  Hdep
150 +8 83 8 42 24
145 +7 80 9 40 a5

140 +6)|PGA 17 10 38 26
135 +5)| Tour 73 11 36 27
130 +4)|level 70 12 34 28
125 +3) 67 13 32 29
120 +2) |LPGA 63 14 30 30
115 +1) |Tour 60 15 28 31
110 jlnm 58 16 26 32
1

107 56 17 24 33
103 2 54 18 22 34
100 3 52 19 20 35
a7 4 50 20 18 36
93 5 48 21 16 37
90 (] 46 22 14 38
BT T 44 23 12 33



